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Group - A
e-qale

From the alternatives given under each bit,
wTite serially the correct answer along with its
senal number against each bit 1x12=12

deet? ggggca  daminelel ‘079699 ade
929 €42 «4g9a 9fie ey ade QAIRLLR

€

a) An example of even function is
% dE] FRQ a0ie8 2Rl
1) 2x° - 3x
i) 3x*-3x2+1
i)  4x? - 6x3 +5x
v) 3x°-3x24+1

b) The differential coefficient of 3x2 —5x+7
i

3x% -5x+7 Q 2000 Q9 QA

i) 6x+5 i) 3x3 -5x% +7x
i)  6x = iv) 6x+1
ROS RIE/D.ER/E)/Set. R ¥y contd:
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5014-B

c) I{Sx" +24x% +16)dx is equal to

[(5x*+2ax2 1 16)dx aiQl 280 amie.
IRl 6o

i) x5+8x3+15x+C
i) 20x% +48x+C
i)  x° +8x3 +16x+C

iv) 5x° +24x° +16x+C

d) The number of different order matrices
that can be formed with all the 8 different
elements, is

ang 8 § G9 aaiele iql ! o an EQ
AdQ AXER 990 6RIaaIa. Q19! 6eAl
ij 2 ii) 4
iii) 8 iv) 16
e) Asubsetoftheset, {1,3,5,7,9},is
696 (1,3,5,7,9)Q 92 Q96 6QRl
) (1,2,3) i) {3,4,5}
i) {5,6,7) iv). {5,7,9}

805 R/E/D.E(R/E)/SevB [ 3 | P.T.O.
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A
" (39):
i) isa determinant of order three
@ 9816, 9da Fdiae 26d
i) isa determinant of order two
9a gote, eda Adlaq 2&e
is not a determinant
e Gdioe g6

jv) isnota matrix

ve AIGR §5e
alues 45, 40, 42, 47, 50,

iii)

g) The range of the v
52 and 55 is

45, 40, 42, 47, 50,

G 2R
) 12
i) 19
h) The mean deviation of wages of rupees
250, 300, 325, 350, 400, 443 and

450 from it8 median, 18
250, 300, . 325, 350, 400,

oy Y& 55 ARIGESA

iv) 17

445 €

150 @A AOAIGEAR AAOIQ ARK §ie
6Q9

i) 60 i) Rs. 60

i) 0171 jv) 40

aiIJ.‘ilf;Iﬂ;‘lj.lﬂli,(l:u*.‘kl-li' ER contd:

>
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i)  The number of times value of a vanable
occurs in a distribution, is called

§AIGY CRQERER ¥R 99Q ARY 6d6eHQ
adiv, 91919 QI

i)  Frequency ij) Mean
aatelatel A
i) Median- iv] Mode
mie - qdse
j)  The arithmetic mean of 179, 197, 203, 357
and 494 1s -
179, 197, 203, 357'99° 494 @ GI&S0Q ARY
GQGLE -
) 236 ii) 246
ui) 266 .. iv) 286

k] The second qua.rtlle of a chstrlbutmn is
always equal to

e QGeqra o1 oQerde gl age
AR6AcR QIR QY. BIQI CRl

i)  Median i) Mode
AR QE8Q

iii) Mean iv) Third decile
Flied 00, QEAraG

805 R/E/D.ER/E)/Set-B | 5 | P.T.0
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) An average, which is positional average, is

¥e QIQIRIA QIR ASRING QAR A¢E, Qigy

cQal

)

1i)

1i1)

iv)

2. Answer

Arithmetic mean
QIERR AN

Geometric mean
ﬂ@@ll@l@l ARy

Median

Jatsula

Harmonic mean

QIR Al

the following questions as per

instruction given in each bit : 1x12=12
96019 GQgecQ goa aQeed AQAIER RIRge
49969 aae G2 :

a) Express each of the following in one
” . word/term :

IR0 geotaq CAITY cRAN §e/aed
deI8l QQ :

)

A measure of dispersion,

cietermmed by the formula,

Standard deviation
xlOU).

\ Mean
(A1PQ 4G
| oy "1‘30) 28 Qi HqEe

6RA% 99090 ve AIae |

805 it/E/D.E/R/E)/Ser.B
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5014-B
=] A matrx, which has equal number of
rows and columns.

—

= NTR. DIQIQ 9RIP T IS @
9 1

<5\

.n‘.]'
L‘II

F
=

, lim X3 +1
1) Thexalueufx_,_lx+1_

im  x3+1
x> -15a1 28]

b)” Answer each of the following questions in
one sentence :

Spage geeie gga @aR CHIFY GRAN
QIeqcq & :
iv)] Define set.

caeQ a8l 6ad |

In the following data, which is the
modal age and why ?

Seaig QdIAA aae Qaee 949 9e°
Q3R ?

Ageinyears | 0125|3035 40| 45|50
204 od6Q

No. of persons
4g Qe

205 R/E/D.E(R/E)/Set-B | 7 1] P.T.O.
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vi) Evaluate: [6x%dx.
AR 7Qa8 @a ¢ [6x° dx.

Rectify the underlined portions of the
following sentences :

ARRGe. QIIQORER Lol CQNIFE 2raq
greaitie Qe !

vit) IfA={a, e i 0 u})and
B={x 0,1 ¢ a}, then

AuB={anei o0}

08 A={aq,¢1i 0 u) 0Q°

B={(x,0,1ie a),

your CHSE guide

606 AU B={a e i o)

vili) A matrix A=lag] ., is said to be a

square matrix if m > n,

89 m>n QU 6060 AITRY Ue od
FHIE R, Azlﬂl’jlmxn Gi@am |

KOS RIE/D.ER/E)/Se1-D | 8 | | Contd.
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ix) A distribution has four quartiles.

V@ A09QRA GEIF 0odiraa v |

d) Fillin the blanks :

QAMRIR a8 /Q :

X) Coeflicient of mean deviation is
measure of dispersion,

RN QQ4ea  gaie  Ggada

Alae 26e |

xi) The differential coefficient of x* with

respect to x? is

x2 @ Q@ @Q x' @ 2’k qed
269 |

xii) The algebraic sum of deviations from
mean is

arHolq GIEGe 9QI qeea and
A

BOS R/E/D.ER/E)/Set-B | 9 ] P.T.Q,
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Group - B

3 - Qe

Answer any fen of the following questions
2x10=20

within 30 words cach b _— .
Q61eQ 90 ¢ aeeca d1A9 QY RARYP 6 caled

Qa6 aga QAR 4 |
State any two merits of standard deviation.
ARe Goida 6 6@aE Qad QuwIagl

a)

Qe |

b) Calculate the harmonic mean of 2, 3

and 4.

2,399° 4 Q QAIGR AN FQae !4 |

Explaining the notations used, write the
interpolation formula for determining the

value of first quartile in a continuous

series.

QIQQe €%RPYERQ Qi Y@ aRa0 cgeea
gein eediraea Aay Ao, eAQIQ AREHER

goc QRS R |
d) Find the mode from the following data :

56713 QaIag QBER FdG

205 RIE/D E(R/E)/Set-B

Marks |
RFQ 30| 40 | SO0 | 60 | 70 | 80
Number of
students 6 181 40| 22 | 11 2
21e el
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5014-B
Give an example of a constant function.

P 0N (TRRQ QQINAE QY |

. g
Bvaluate : fim X7 =1
C=> 1 oy

. , 3
anl oeaa e fim xT -1
D " XxX—=1l x-1

When is o function f(x) said to be
continuous at x=a ?

a—

GRORERER AR f(x) § x=a Ol6Q AREQ
GRIR QQIAN 7

J| 1 : ' X+
Find the differential coefficient of e°8¥*~

wilh respect to x.
x @ @R QA s Q aees aga Rdg
WQ |

Evaluanie : Id.\:.
AR Qa8 aQ : fdx.

State any two merits of arithmetic mean,

qida g 60 caled eaF QEaRIAg!

(WG |
IMind  the  values  of x, for which

NIRRT

o RGO e Sers | 1] P.T.O.
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) How many rows and columns are there in
matrix, A =ﬁ g g) 2
a 2 4 6 oS
MR A=(1 4 7) 6a €a6oIF G 6 g7

a8 ?

m IfA={12,3,4,5},B={2,3,57,9)
and C= {3, 4, 6, 8, 10} then find the set
An(Bu(C).

90 A={1,2,3,4,5},B={2,3,57,9}
¥Q* C={3,4,6,8, 10}6068 An(BuUC)
6966 fdg ea |
4. Answer any four of the following questions
within 50 words each : Ix4=12
geMaQ 808 AA6Q A0 ayl ARRge ¢a 6Aled
Qe6IE gea aaa da :
a)  If the first and third quartiles are Rs. 340

and Rs. 940 respectively, then calculate
their quartile deviation,

805 R/ /D ERJE)/Sern | 12 Contd.
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b)

- e e

d)

e)

sl
- b

: 5014-B
0 dan G 991G, 99draeQn auims

340 Q& G 940 O QaAB, 6069 6RO
0edraq 9e4% fqae a |

Distinguish between mean deviation and
standard deviation.

Ay QIS v AIp B918 Mwiea aidw
Qdia |

. 3
Find the adjoint of the matrix, A = G 4) .

AIge ,qzﬁ f_.’j q veeas Ada <Al
Explain an odd function.
ve 30Q FFeea i QA

Find the integral of 2x(l+ 2P with
respecttox

&3 ¢ 2 ~en 240
r €G3 =Q (1= 2P D EFFR FL4
AW
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Answer any three of the following questions :

8!3:24

ARRGE ca c@ed G6rIE 990 aae Ga

5. Calculate the standard deviation from the

[ollowing data :

REI] QUIAR AINE QGY6 Qa8 *Q

Values ( x)

- 4 6
ARYGER 8 | 10| 12 | 14 | 16
Frequency
slageer | 2| 2|6 |85 |3]>2

6.

BOS R/E/D.E(R/E)/Se1-B [ 14 ]

Calculate the arithmetic mean from the
following data :

RenIe aaieq IEde A foa e :

Income in thousand

Number of
of rupees employees
i, O] QRIQLR QAGIQN Qe
0-10 6
10 - 20 14
20 -30 16
30 - 40 27
40 - 50 22
a0 - 60 15
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5014-B
Find the derivative of (x” +8)7 with respect

to x.
x @ 66 98 (x° +8)7 Q 2QGRE FQDE Q4 |

—a2 ab ac

Prove : | ba -b% bc |=4a
ac be —ac:ﬂr

2b2c2.

—a2 ab ac

grIa @a: | ba -b* b = 4a%b%c2.
ac be —vc:2

What do ‘you mean by measure ol central
tendency ? Explain the requisites of a good
measure of central tendency.

celq, 99Aa MA@ 9dcm @8 9¢ T YR oty
coR1G, G908 AIaea 219612016§@ 94IR 6Rd |

_——__:_.——'_ﬁ

your CHSE guide

| 15 |

Scanned with CamScanner

e — T



